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OH(FH) B(HAESHII2XS) ol of
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OgdAsHA 20 HE AJ| L JIE=23
400,000 *6IH A~ +50H = 12,000
206 T2 bl 15,000 10,000 5,000
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OYASHA 29 A=t 79l
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= 100,000
= 30,000
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[Ea 24,500
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= 25,000
= 7,500
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14 0Bt 2a3 10,000 5,000 5,000
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OFNg e2 =& U0
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24,800,000 24,800
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= 3,720
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SHEANE(SEsE) 28 2 1,000 1,000
201 =3 1,000 1,000
01 Al 22IH| 1,000 1,000
OFHT ASAM(LHASE) 72
1,000,000& 1,000
Fitsor ggety K2 22,500 40,500 A18,000
LSO ASAE X 22,500 22,500 0
402 212t X201 & 22,500 22,500 0
01 QIZEXHE AL 2 (RERITH ) 22,500 22,500 0
OF4tsIF HEHHAE XNI&H
5,000, 0002 *5H 2= +50% 12,500
O=4sot Hela=sAlg X2
5,000, 0002 44 2=+50% 10,000
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Jl 1,000
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2,000,000& 2,000
Jl 1,000
[Ea 1,000
307 @120l & 5,065,648 0 5,065,648
Il 2,404,216




S B
M SHEHAL|
—/ o

o _;E/\}E A B i‘%o B (SH &)
B . O (B1H) - NIRALY - BAS Ofl by e MimE=E)
= 138,996
= 2,522,436
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J| 1,191,240
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ONEHX ZEESSH X
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< 4,428
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OYLBIEN ZRPY X
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OX2UX EX7E X
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J| 151,800
OF2LX £loHy| X2
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= 43,400
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J| 145,500
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